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; 100kN/mMZ#8 % % - -~ -[3mEEZD ~ - -| 100kN/mM%#8 %% - ~ -|3mEBZS ~ -
st 1.00 | 0.00 ~ 582 72.82 | =N | 000 ~ 0.00)| 1.58 7.96 st 1.00 | 5.00 ~ 7.10 7282 | EnRS | 600 ~ 710 | 1.68 7.96
2 100kN/MZ#8 % % ~ -[3mEEZD ~ -| 100kN/mM%# %% ~ -|3mEBZS ~
ZznLst 1.00 | 0.00 ~ 5.45 67.97 | TN | 000 ~ 545| 1.82 919 st 1.00 |1 6.00 ~ 6.04 67.97 | FnS | 65,00 ~ 6.04 ] 1.82 919
3 100kN/MZ#8 % % ~ -[3mEEZD ~ -| 100kN/mM%# %% ~ -|3mEBZS ~
st 1.00 | 0.00 ~ 685 86.63 | =hst | oo ~ 000|161 813 st 1.00 | 5.00 ~ 9.02 86.63 | =nLs | 5,00 ~ 9.02 | 1.61 813
4 100kN/MZ#8 % % ~ -[3mEEZD ~ -| 100kN/mM%# %% ~ -|3mEBZS ~
ZznLst 1.00 | 0.00 ~ 711 90.36 | =hst | 0oo ~ 711|181 915 st 1.00 | 5.00 ~ 9.00 90.36 | =nLst | 5,00 ~ 9.00 | 1.81 915
5 100kN/mMZ#8 % % ~ -[3mEEZD ~ -| 100kN/mM%#8 %% ~ -|3mEBZS ~
st 1.00 | 0.00 ~ 6.06 76.02 | =N | 000 ~ 606|187 9.44 ZznLst 1.00 | 6.00 ~ 718 76.02 | EnRS | 600 ~ 718|187 9.44
¢ 100kN/mMZ#8% % ~ -[3mEEZD ~ -| 100kN/mM%# %% ~ -|3mEBZS ~
ZznLst 1.00 | 0.00 ~ 536 66.80 | =LY | 000 ~ 0.00| 1.60 8.10 st 1.00 | 5.00 ~ 6.10 66.80 | =nS | 65,00 ~ 6.10 | 1.60 8.10
. 100kN/mMZ#8% % ~ -[3mEEZD ~ -| 100kN/M%# %% ~ -|3mEBZS ~
ZznLst 1.00 | 0.00 ~ 5.81 72.74 | ENLSY | 000 ~ 000|172 8.68 ZznLst 1.00 | 5.00 ~ 6.53 7274 | ENRS | 6.00 ~ 663|172 8.68
3 100kN/mMZ#8 % % - ~ -[3mEEZD ~ -| 100kN/mM%#Z % - ~ -|3mEEZ S ~ -
ZznLst 1.00 | 000 ~ 6.63 70.37 | =LY | 000 ~ 0.00]| 1.61 814 ZznLst 1.00 | 5.00 ~ 6.563 70.37 | FnRS | .00 ~ 6.63 | 1.61 814
9 100kN/MZ#8 % % ~ -[3mEEZD ~ -| 100kN/mMi%#Z % ~ -|3mEEZ S ~
ZznLst 1.00 | 0.00 ~ 647 6826 | =N | 000 ~ 000|157 7.96 ZznLst 1.00 | 6.00 ~ 646 68.26 | TnLS | 65,00 ~ 6.46 | 1.57 7.96
70 100kN/mMZ#8 % % ~ -[3mEEZD ~ -| 100kN/mMi%#Z % ~ -|3mEEZ S ~
ZznLst 1.00 | 0.00 ~ b6.39 67.27 | =LY | 000 ~ 0.00)| 1.59 8.03 ZznLst 1.00 |1 6.00 ~ 624 67.27 | ThS | 6,00 ~ 6.24 | 1.69 8.03
100kN/mMZ#8 % % ~ ImEBZD ~ 100kN/mZ#BZ % ~ ImERZD ~
ZhLs ~ Zh st ~ Zhst ~ Zh st ~
100kN/mMZ#8 % % ~ ImEBZD ~ 100kN/mZ#BZ % ~ ImERZD ~
Zh LS ~ Zh st ~ Zhst ~ Zh st ~
100kN/mMZ#8 % % ~ ImEBZD ~ 100kN/mZ#BZ % ~ 3ImERBZD ~
Zh LS ~ Zhst ~ Zhst ~ Zh st ~
100kN/mMZ#8 % % ~ ImEBZD ~ 100kN/mZ#BZ % ~ ImERZD ~
Zh LS ~ ZhLst ~ ZThst ~ Zhst ~
100kN/mMZ#8 % % ~ ImEBZD ~ 100kN/mMZ#BZ % ~ 3ImEBZD ~
ZzhLst ~ zhn s ~ Zzhst ~ Zzh st ~
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